1' Factor 16 yx3 — 2y using the GCF and then the difference of two cubes.

27(3/)(3__ \) 2\/(2)(—— ()({2)()12._4_2)(_" l)
ZY ( (2705__“\3) Zy(zx—\)Ldrx T2 0+ )

2. Factor a° + a%b—4ab? - 4b° using grouping and then the difference of two squares.

(o b)— (o) (ot+b ) (aa®— (z,\o)l)
(o b) (c(l--hnga‘) (i) a-2b)(err 2)

3. Factor 12x2 +19x + 4 using the method of your choice. AC_-—,—:: q.g b =) C‘

12 %520 b XY 5.2:3-0-2
3K(ux+) (A o
(37(+-q)(t-(x+-\) | 13716
Qo2
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4. Factor m* —m® +27n%m-27n° using grouping and then the sum of two cubes.

VY (A= )4270% (0 =) (M=1)( MEx(Zn))

(ra=1)(M+3n)(ME3mn+ (3
— ks =
| Q;v\ lXM -2TN?) (m-\)(M+3n)(m7'“3“"V\*C\"‘z')
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5. Solve each of the following using the zero-product method.

a) x(2x-3)(x+5)=0

X=0
A a-tle

b) 4x2+10=13x

4XZ\2ARF0=O

A XESYK—~BXAH10O=O
K(4X8) —p (4x=5)=©

(4%-5Y X -2) =
AR50 X=2,

40O
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2420

i

= 5/L_\ 251(," Z}

6. Simplify each of the following. You must show your work.

a) 34108 ' O%

393 kz
23Nz
&3

\_,_.,f

b) 4 % 7 ) % \FZ
[ [
ML) | e

31-7
|7

g Foreach of the following find the value of the discriminant and then circle Héwnrﬂﬁény solutions

you expect. Don’t solve the quadratic equation.
Z

b=Qac

—u(WX)=0

2 solutions @ No solutions.

a) P —2%41=10

(2=

b) X2 +x+1=0

//
2 solutions 1 solutior( No solutions. )




7. Given the parabola f(x)=—x2 +6x—4

a) Does the parabola open up or down? CQO‘L.(J"V\ —\&<O

b) Find the y — intercept. —F(O) = '—-CO) +-(p(o) 0 =5 (O L")

c) Find the vertex of the parabola.

-_'"__\Q_.__—_-_ ~—i o :,:_..L?— ;w% M
20 20"

((z)= —(3)Fe(3)-Y=-FHEU=5

d) Graph the parabola. e) Find the discriminant and discuss
y what it says about the number of
| et X intercepts.
e G g buacs - ~uENe)
N £ = & )<
— 1l b L X
10-8 _5 4 - LL;E 1

yandun Feso e Encgs

f) Using the quadratic formula find any x-intercepts. Simplify your answers.
b 2
(O= =X x—4
s i = + =
20 _ —(E215 _ -l + 25
T 20) .2 S22

(>-% 0 (5eE0) " =3&{>



8. The function W(t) = 10t2 —120t + 400 models the number of people watching a state swim meet.
W stands for the number of people watching and ¢ stands for the number of hours after 8 a.m.

a. What does W (0) tell us.

o(0) =400 SO 4o pectie o
uﬁuﬁ’cf\/\'w»cﬁ o X Ba.Me

b. How many people were watching the finals at 10 p.m.”? L@ <O ’)eOP[ Q

0 DN\ =) vroue (Y ama:k_m‘rdaw\fi
W)= 1004)= 2o+ Ho0 = L80 O

c. Find the minimum number of people that will be watching and find the time this will occur.

_..(*\’Lc?) \2. =1 L‘Om
o W

\W(k) =\ (b)_—\w(e)+400 MDPM Y
(b) = 40 z))jc ﬁle; C&;f

d. In English, answer the question that W (t) =200 is asking.
+
L)
O =10k =\20% +200 zoo 209 _\p B\p,,:_z

\O na = (-120) = q(\o)(m)
— (Q\{OO /&)OO PCOPUL UJLQ/Q oo
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